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M.A\M.Sc.\M.Com DEGREE EXAMINATION, NOVMEBER 2015.
I YEAR — II SEMESTER

NON–MAJOR ELECTIVE - I
QUANTITATIVE APTITUDE
Time : 3 hours
    



Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. Find the L.C.M of  [image: image2.png]12 18 21
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.

2. Convert 0.0056 into vulgar fraction.

3. Express 0.6% as a fraction.

4. Write down the formula for C.P. in terms of S.P. and percentage of Gain.

5. If A does a work in 10 days and B does the same work in 15 days, in how many days will they together do the same work?

6. A can do a certain job in 12 days. B is 60% more efficient than A. How many days does B alone take to do the same job?

7. Express [image: image4.png]


kilometers per hour in meters per second.

8. Find the distance covered by a car moving at a speed of 108 kmph in 15 seconds.

9. Define Tabular form.

10. Define caption.

11. A man buys a cycle for Rs.1400 and sells it at a loss of 15%.Find the selling price of the cycle.

12. A train travels at an average of 50 miles per hour for [image: image6.png]


 hours and then travels at a speed of 70 miles per hour for [image: image8.png]


 hours. How far did the train travel in the entire 4 hours journey?
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

13. Find the largest number of four digits exactly divisible by 12, 15, 18 and 27.

14. An article is sold at  a certain price. By selling it at  [image: image10.png]


 of that price one loses 10%. Find the gain percent at original price.

15. The price of an article was increased by r %. Later the new price was decreased by r %. If the latest price was Re. 1, find the original price.

16. An aeroplane flies along the four sides of a square field at the speeds 200, 400, 600 and 800 km/hr. Find the average speed of the plane around the field.

17.  The following table gives the sales of batteries manufactured by a company over the years.

NUMBER OF DIFFERENT TYPES OF BATTERIES SOLD BY A COMPANY OVER THE YEARS (IN THOUSANDS)

	TYPES OF BATTERIES

	YEAR
	4AH
	7AH
	32AH
	35AH
	55AH
	TOTAL

	1992
	75
	144
	114
	102
	108
	543

	1993
	90
	126
	102
	84
	126
	528

	1994
	96
	114
	75
	105
	135
	525

	1995
	105
	90
	150
	90
	75
	510

	1996
	90
	75
	135
	75
	90
	465

	1997
	105
	60
	165
	45
	120
	495

	1998
	115
	85
	160
	100
	145
	605


(a) For which type of battery is the total sales for all seven years maximum?

(b) What is the difference in the number of 35AH batteries sold in 1993 and 1997?
(c) Find the year in which the percentage of 4AH batteries sold to total number of batteries sold was maximum.

18.  A is faster than B. A and B each walk 24 km.The sum of their speeds is 7 km/hr and the sum of times taken by them is 14 hours. Find the speed of A.

19. Two men and three boys can do a piece of work in 10 days while three men and two boys can do the same work in 8 days. In how many days can 2 men and 1 boy do the work?
SECTION C — (3 × 10 = 30 marks)

Answer any THREE questions.

20. (a)
The H.C.F. and L.C.M. of two numbers are 11 and 358 respectively. If one number lies     

          between 75 and 125, find the number. 







       (6 Marks)

(b)
How many 3 digit numbers are completely divisible by 6?



        (4 Marks)

21. (a)
A spider climbed [image: image12.png]62



of the height of a pole in one hour and in the next hour it covered 
[image: image14.png]12



 of  the remaining height. If the height of the pole is 192m, find the distance climbed in second hour.     











        (5 Marks)

(b)
Peter purchased a machine for Rs.80,000 and spent Rs.5000 on repair and Rs.1000 on transport and sold it with 25% profit. At what price did he sell the  machine. 
       (5 Marks)        
22. (a)
X can do a work [image: image16.png]


  of a work in 10 days, Y can do 40%  of the work in 40 days and Z    

        can do [image: image18.png]


 of the work in 13 days. Who will complete the work first?


        (4 Marks)

(b) 
45 men can complete a work in 16 days. Six days after they started working, 30 men joined them. How many days will they now take to complete the remaining work?              (6 Marks)

23. (a) 
One of the two buses completes a journey of 300 km in [image: image20.png]


  hours and the other a journey 450 
km in 9 hours. Find the ratio of their average speeds. 



                 (5 Marks)

(b)  
Running at [image: image22.png]


 of its usual speed, a train is 10 minutes late. Find its usual time   to cover the journey.




           






       (5 Marks)

24. Study the following table carefully and answer the questions that follow.

	Marks out of 50[image: image24.png]


Subject
	40 and above
	30 and above
	20 and above
	10 and above
	0 and above

	Physics
	9
	32
	80
	92
	100

	Chemistry
	4
	21
	66
	81
	100

	(Aggregate)

Average
	7
	27
	73
	87
	100


(a) Find the number of students who scored less than 40% marks in aggregate.
        (4 Marks)

(b) If atleast 60% marks in Physics are required for pursuing higher studies in Physics, how many students will be eligible to pursue higher studies in Physics?
  
 

        (3 Marks)
(c) What is the difference between the number of students passed with a cut-off marks in chemistry and those passed with a cut of marks in aggregate?



        (3 Marks)
———————
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